


Aim
• Solve problems involving the calculation and conversion of units 

of measure, using decimal notation up to three decimal places 
where appropriate.



DivingCalculate with Metric Measures 

Six 360ml cups are filled from a 2.3l flask 
of coffee. How much coffee is now left in 
the flask? Give your answer in litres.

Flask = 2.3l

Cup = 
360ml

Cup = 
360ml

Cup = 
360ml

Cup = 
360ml

Cup = 
360ml

Cup = 
360ml

How much is left?

0.14l



Calculate with Metric Measures Deeper

Finlay has a piece of string which measures 0.9m. He cuts off a piece 
measuring 15cm and then cuts the remaining string into three equal pieces. 

How long is each piece? 

Three children record their 
answer to this problem: 

Shaughna:
250mm

Siannise:
2.5cm

Connagh:
0.25m

Shaughna and Connagh are 

both correct. 
0.9m = 90cm

11:58



Rucksack B contains less 
than 0.1kg. 

Rucksack C contains 100g more 
than   kg.

Rucksack D has a mass of 0.05kg 
more than Rucksack A. 

Rucksack E’s mass is shown on 
the scale. 

Rucksack A contains more than 
rucksack E but less than rucksack D.  

Calculate with Metric Measures Deepest

1
4

Five rucksacks are 
emptied and their 
contents placed on 
the scales.

Use the statements to 
match the rucksacks 
with the mass of their 
contents.

Mass of rucksack contents:
0.35kg = 
0.8kg = 
80g =
0.7kg =
850g =

scale

×

Rucksack C
Rucksack A

Rucksack B
Rucksack E
Rucksack D

What is the total 
mass in kilograms 
of the contents of 
the rucksacks?
2.78kg



Dive in by completing your own activity!

Calculate with Metric Measures 




